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Maths

1) What numbers are represented here?

a) b)
(F ]
(F ]
(F ]

Now add 45. Now add 76.

What is the total? What is the total?

2) Complete the Bar Models.

? ?
83 398 64 497
3) Use the_digit cards to complete the 4) Harvey is adding a 3-digit number to
calculation a 2-digit number.
¢ The 3-digit number has a 5 in the
0 1 4 8 9 1 tens column and a 5 in the ones
column.
9 e The 2-digit number has a 9 in the
tens column and an 8 in the ones
+ 1 column.
5 7 2 Harvey thinks the answer will have a

4 in the tens column and a 3 in the
ones column.

Is he correct? Explain your answer.




English
Today we are going to be retelling the story of ‘The Lion and the Mouse’. When
retelling the story it is important that we use our time words to help structure when
the different events happen (Firstly, Secondly, Next, After that, Before, Then, Finally

etc.) We should also be trying to link our sentences together with conjunctions and
trying to include adjectives in our writing.

If you need a reminder of what happened in the story, please click here:
https://www.bbc.co.uk/teach/school-radio/english-ks1--ks2-aesops-fables-the-lion-

and-the-mouse/z67i92p

Challenge: Try to include some of the following adverbs in your writing.

How?
angrily hungrily
anxiously inquisitively
cautiously irritably
cheerfully joyously
courageously loudly
crossly madly
cruelly merrily
defiantly nervously
doubtfully quickly
elegantly sadly
enthusiastically safely
foolishly shyly
frantically solemnly
gently weakly
gladly well
gracefully wildly
happily

When?

afterwards
again
before
beforehand
early
lately
never
now
often
punctually
recently
soon
then
today
tomorrow
yesterday

How often?

always
annually
constantly
daily
hourly
monthly
never
occasionally
often
once
regularly
repeatedly
sometimes
usually
yearly

o

visit twinklL.com

Where?

above
around
away
below
down
downstairs
everywhere
here
inside
outside
there
up
upstairs
wherever

How much?

almost
completely
entirely
little
much
rather
totally
very

L

More useful ]

adverbs

additionally
fittingly
insufficiently
appropriately
hence
suitably
consequently
however
therefore

A



https://www.bbc.co.uk/teach/school-radio/english-ks1--ks2-aesops-fables-the-lion-and-the-mouse/z67j92p
https://www.bbc.co.uk/teach/school-radio/english-ks1--ks2-aesops-fables-the-lion-and-the-mouse/z67j92p
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Chapter 4 — extract 2 of 4

Who lives there?’ he asked Major Beamish.

‘That — that’s the Dovetail house, Your Majesty,” said Beamish.

‘Dovetail, Dovetail,” said the king, frowning. ‘I’ve heard that name, haven’t
I

‘Er... yes, sire,” said Major Beamish. ‘Mr Dovetail is Your Majesty’s
carpenter and Mrs Dovetail is — was — Your Majesty’s Head Seamstress.’

‘Ah, yes,’ said King Fred hurriedly, ‘I — I remember.’

And spurring his milk-white charger into a canter, he rode swiftly past the
black-draped windows of the Dovetail cottage, trying to think of nothing but the
day’s hunting that lay ahead.

But every time the king rode out after that, he couldn’t help but fix his eyes
on the empty garden and the black-draped door of the Dovetail residence, and
every time he saw the cottage, the image of the dead seamstress clutching that
amethyst button came back to him. Finally, he could bear it no longer, and

summoned the Chief Advisor to him.

Inference Questions

1) ‘Er... yes, sire,’ said Major Beamish. ‘Mr Dovetail is Your Majesty’s carpenter and Mrs
Dovetail is — was — Your Majesty’s Head Seamstress.’
‘Ah, yes,’ said King Fred hurriedly, ‘I — I remember.’
Why do you think King Fred replied hurriedly?

2) How might the King feel as he is riding past the Dovetail residence? Explain your answer.
3) What do you think the King is going to ask his Chief Advisor? Why?




